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KIly / English Language Exam 2018 A

PART A - CHOICE ITEMS

ACTIVITY 1

Listen and match items la-5a with photos A-F. One photo (A) is used in the example.
Axouoe kai Taipiage Ta epwTAPaTa 1a-5a pe Tig eIkoveg (A-F). Mia geik6va XpnoiPoTTrolEiTal OTO TTApASEIypa.
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WHAT ARE THESE PEOPLE SAYING OR THINKING?

4

Listen again and check your answers.
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ACTIVITY 2

Listen to items 6a-8a and choose the best answer (A-D). There is one answer you do not need.

Akouoe Ta epwWTAPATA 6a-8a Kal S1dAeée Tn cwoTA amrdvrnon (A-D). Yrdpxel gia atmrdvrnon mou d¢ xpeiddeoal.

‘ \\ L [Why are they calling? ]

6a. A. | Na {nthoel yia cuvtayn.
\) 7a B. | Na evnuepwoel TTwg akupwBnke n ouvavinon.
C. | Na re1 6T dev Ba el otn O€iwan.
8a. D. | Na Trel 6T Ba apyroouV.

Listen again and check your answers.

ACTIVITY 3

Listen and choose the best answer (A, B, or C) for items 9a-10a.

Axouoe Kkai SidAege Tn owoTA atravinon (A, B, i C) yia Ta epwTtApara 9a-10a.

DIALOGUE

| What happened? Why is he apologizing? | (
N\ [

9a. The man speaking forgot 10a.  Hollie’s dad wants her
A.  his baby. A. to keep her room clean.
B. his appointment. B. to save her money.
C. his schedule. C. toapologise.
2N J

Listen again and check your answers.

PART B - SHORT ANSWERS

ACTIVITY 1

Listen and fill in gaps 1b-5b with the right word, as in the example.

Akouoe TiIg dnAwoeig 1b-5b kai pavrewe oia givar n teAeutaia AéEn (TTou dev akoUyeTal), OTTWGS OTO TTAPASEIYHA.
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EX. |wine
1b.
2b.
3b.
4b. :

5b. 1

Listen again and check your answers.
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ACTIVITY 2
Listen and fill in gaps 6b-10b with the right word(s), as in the example.

Axkouoe TIg SnAwaoeig 6b-10b kal pavrewe Troid gival n TeAeutaia Aén (Trou Sev akoUyeTal), 6TTWG OTO TTAPASEIYMA.

Do we have
everything
we need?

EX. SLEEPING BAGS

6b. W C

7b. S

8b. U

9b. H B

10b. T o

Listen again and check your answers.

META TH AH=H TOY HXHTIKOY MHNYMATOZ EXETE MNENTE (5) AEMTA THZ QPAZ I'A ANTIFPA®H
TQN AMANTHZEQN ZTO ENTYNO 3.

TEAOZ MHNYMATOZ
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